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[1] DIN(ug-at. L) No. 2
H26 H27 H8 H29 H30 R1 R2 R3 R4 R5 104 R6 &
10/30 | 10/27 | 11/1 | 10/31 | 10/30 | 10/29 | 10/27 | 10/26 | 10/25 | 10/24 | F5 | 10/29 AR
4.2 2.6 8.1 4.0 1.1 0.7 2.1 4.9 1.1 3.2 4.7 FoHA
3.7 3.9 4.0 8.6 3.7 2.3 0.5 0.8 1.3 3.2 3.5 |® B|7H 4
3.7 8.0 4.2 5.0 1.6 4.5 it BT h A
B b 1|7H A
B b 2|7HA
5.7 4.6 4.1 10.1 5.0 1.9 1.6 2.6 5.1 5.8 4.6 4.1 |k ® 1 M[oHaA
ES 1|7H A
ES 2|7H A
.9 .8 8.0 | 12.3 5.7 2. 5.6 7.1 .6 6. M1 M B 1(784
A 1 4.3 9.1 3.4 0 2.6 5.0 4 4.3 4.4 | M B 2(7HA
.2 2. # LS [ H A
B H 1|7H A
B H 2|7H A
2 i 3|TH A
2.1 2.9 2.1 10.0 | 3.4 1.3 0.1 3.2 4.2 |E IR 1o/
2.4 3.9 2.2 1.5 3.9 1.1 0.5 3.1 4.2 |E IR 210/
2.6 3.1 2.6 1.2 3.4 1.4 1.1 3.1 4.0 |E IR 3o/
2.9 110.0 | 3.7 4.6 0.7 4.4 4.6 |E IR 4150/
3.6 2.5 1.7 3.7 2.6 0.4 3.4 1 6.3 | N 1128/
2.9 2.7 (25,6 2.9 |20.3]| 5.5 10.0 | 6.2 | N 2|8/
3.3 3.0 [ 145 6.7 | 19.0 | 5.1 8.6 | 15.7 | N 4|0/
1.9 1.4 1.5 0.3 2.8 6.4 |EemERE D®vasY
6.5 EEmKRE Q@AY
8.0 [ 14.7| 4.3 9.5 1.8 4.8 2.4 6.5 m B B O@IAA
4.9 110.2 | 5.5 1.4 2.3 3.6 1.0 5.3 m B B OQUAA
6.9 9.5 8.4 1.5 1.4 2.9 1.6 5.6 m B B QA
2.6 5.3 2.2 3.4 Mm B B @A
2.3 9.1 0.3 3.9 4 (o H A
3.1 2.1 7.9 1. 6.1 2.3 1.5 0.8 0.2 3.1 3.9 |5 # 1lpo/ )
4.5 1.9 9.3 1. 6.2 2.3 1.4 0.8 1.2 3.1 3.9 |5 # 2|y8/Y
3. 1.9 [ 10.0 | 1. 4.2 2.1 1.5 1.5 3.2 i 5 210/
6.7 6.4 4.2 7.1 5.3 5.9 | 16.4 |= B|l7AhA
1. 5.7 2.2 9.6 1.0 1.7 1.0 1.0 1.6 0.7 3.2 = #t 1[7H A
1. 2.2 1.9 | 13.3 ] 1.4 3.9 1.0 0.8 1.8 1.3 2.9 = #t 2|T7H A
2. 3.9 3.1 7.9 1.4 5.1 0.7 1.9 1.7 0.9 2.9 i ®loosy
18.0 1 20.0 | 20.5 | 51.8 | 24.7 | 30.2 | 22.7 | 15.8 | 2.4 0.4 120.6[2.2 %1 (RRB)|ASTA
29.4 1 21.9 | 15.5 | 2.4 1.1 1411 25.5 |& % i 1 0.5m|RCT7H
20051 14.2 | 15.4 | 2.1 0.3 110.5]120.4|Z %1 1 (1.0m|RASTA
15,91 16.0 | 10.2 | 49.8 | 8.8 | 30.5| 21.3 [ 16.4| 0.7 2.4 | 17.2119.9 |52 (RB)|RSTH
25.2 1 20.6 | 17.8 ]| 0.6 2.2 | 13.3|17.6 |5 &l 2 0.5m|RST7H
7.6 119.2 | 17.1 0.7 1.5 9.2 |18.0 | & Nl 2 1.Om|RSTH
17.6 [ 16.9 | 9.6 | 54.7 | 15.2 | 30.7 [ 23.0 | 18.7 | 1.8 | 125 | 20.1 | 24.4 | H ) 3 (RE)|RACT7H
28.7121.8(18.9| 1.1 1.5 | 1441 23.7 |&F & )1l 3 (0.5m)|RALT7A
10.7 | 18.8 | 17.9 | 1.2 25 11021222 |E% 1 38 (1.om|RSTH
27.4 1 16.6 | 7.1 0.5 [129 ]| 21.5 |BH N4 (RB)RDTH
26.2 | 17.8 | 4.5 0.7 11231 21.5 | HF )l 4 0.5m|RACTFA
17.3 1 16.9 | 1.1 0.5 8.9 |15.9 |8 1l 4 .om|RSTH
25.2 1265 6.7 [ 10.5[17.2]119.5 |85 (RB)|RSTH
25.1 | 25.1 7.3 [ 10.9 | 17.1 | 16.7 | & )l 5 0.5m)|RZT7+
24.7 1 25.2 ] 6.2 [ 10.6 | 16.6 | 15.3 | & /il 5 (1.OM|RZT7H




(2] Y>2(ug-at L) No. 2

H26 H27 H28 H29 H30 R1 R2 R3 R4 R5 104 R6 E:
10/21 | 10/20 | 10/25 | 10/25 | 10/23 | 10/23 | 10/27 | 10/26 | 10/25 | 10/24 | Fiy 10/29 AR
0. 81 0.5910.91]0.68|0.74(0.471]0.40]|0.77 ]| 0.64 | 0.67] 0.87 |#r FloHA
1.25 (1 0.81 [ 0.60 [ 0.97 [ 0.63 | 0.96 [ 0.40 | 0.31 0.69 | 0.741 0.70 |E& H|7H*
0.68 | 0.71 | 0.69 it Bl7h A
= A 1[Th A
B b} 2(7hHA
0.67 | 0.77 | 0.66 | 0.98 | 0.67 | 0.75 |1 0.46 |1 0.46 | 0.66 | 0.76 | 0.68 ] 0.70 |,k ® m® FM7HA
S 1|7H A4
= 2|7Hh A
0.68 0.93 ] 0.98 0.65] 0.69|0.68|1 0.8 (0.78]10.89 | rmM ®& 1(7h44
0.85 0.71 ] 1.28 0.31 | 0.52 | 0.68 | 0.86|0.7410.70|"cs M & 2(7hH4
0.53 0.53 £ s P H A
B A 1[7h A
= i 2(hHA
B A 3|7H A
0.59 | 0.52 | 0.41 | 0.67 | 0.22] 0.59| 0.21 0.46 ] 0.70 |E I va=Pa
0.63 | 0.530.3310.730.23|0.58 | 0.26 0.47]10.70 | = 2|8/ Y
0.64 | 0.55 | 0.54 | 0.76 | 0.29 | 0.60 | 0.32 0.53]0.69 |E I 3|/ Y
0.40 | 1.05 | 0.30 | 0.63 | 0.28 0.53]0.70 | = 4o/
0.7 0.66 [ 0.71 [ 0.92 [ 0.59 | 0.23 0.6410.78 pu N A=)
0. 66 0.50 | 0.7410.20 | 0.67 | 0.39 0.53 | 0.82 [ N 2|8/ Y
0.62 0.57 [ 1.43(0.19 [ 0.58 | 0.75 0.69 1 0.94 pu N 4187
0.74 0.3310.41]10.49]0.84)EsH RE Q@rasY
0.86 |E &5 ™mKE @vR/Y
0.79 | 0.54 0.32 ] 0.58 | 0.41 0.53 Mm A &5 @7hA4
0.51 ] 0.55 0.32 ] 0.52 | 0.27 0.44 MmoA 5 QA
0.52 | 0.56 0.24 1 0.48 | 0.33 0.42 Mm @A &5 O7hHA
0.38 1 0.63 | 0.44 0.48 M oA 5 @At
0.63 | 0.67 0.04 | 0.59 0.39 | 0.46 5 Z(OhA
0.63 ] 0.52 ] 0.24] 0.93 - 0.60 | 0.31 | 0.30 | 0.27 | 0.37 | 0.46 ] 0.64 |5 # vA=Pa
0.59 ] 0.57]0.22 | 0.86 - 0.57]10.2910.30|0.27(0.38| 0.45]0.62 |5 b= 2|/ Y
0.61 0.39 | 1.01 | 0.07 | 0.72 | 0.29 | 0.29 | 0.26 0.45 LS = 2|8/ Y
0.75 0.59 | 0.66 | 0.58 0.64 | 1.49 |+ Bl7AhA
0.50 | 0.46 | 0.24 |1 0.71 |1 0.14 1 0.44 1 0.23 1 0.29 | 0.32 ] 0.39 | 0.37 & # 1[7hA
0.4910.45)0.38|10.76(0.12 | 0.55]0.280.27 | 0.37(0.47| 0.41 = # 2|7H A
0.42 | 0.46 0.75 1 0.20 | 0.56 | 0.31 | 0.38 | 0.33 | 0.42 | 0.43 LS #|oosy
0.29 0.7411.05]10.71 1 0.790.49 (0.8 | 0.13]0.12 | 0.58 1.1 |&EH I 1 (XRB)|RCTH
0.8 | 0.50 | 0.88 | 0.12 [ 0.31 [ 0.53 ] 1.16 |& % Ju 1 (0.5m)| R TF7#
0.8 | 0.56 (0.8 ] 0.10]0.19 | 0.51 ] 1.18 & Nl 1 (0.0m|RSF7H
0.27 0.76 | 1.12 | 0.57 | 0.75 | 0.52 1 0.82 |1 0.21 | 0.13 | 0.57 | .14 |&EH Nl 2 (RE)|RCTH
0.9 1 0.51(0.90]0.20]0.22 | 0.54 ] 1.15 & & Il 2 (0.5m|RZ7H
0.8 10.49]10.90|0.21(0.21 [ 0.52 ) 1.14|&E% I 2 (1.0m|RCTH
0.30 0.97 ] 1.01]0.58] 1.38|0.50(0.90|0.17]0.69|0.72]1.06 |E%F)I3(XKB)|RACTH
0.8 0.5 0.9 0.1 0.2 | 0.51 ] 1.17 |& % Il 3 (0.5m |RT7H
0.8 0.5 0.9 | 0.1 0.2 |05211.14)EH N 3 0.m|RSTH
0.84 | 0.78 | 0.56 | 0.07 | 0.56 | 1.14 |E&H Nl 4 (RB)|RCTH
0.82 ] 0.85] 0.40 | 0.08 | 0.54 | 1.16 |& & ) 4 0.5m) [RCT7H
0.56 | 0.86 | 0.19 | 0.06 | 0.42 | 1.10 |= & )l 4 (1.0m) |[ROTH
1.09 1 215 0.74 [ 1.66 | 1.41 | 1.63 |F&H ) 5 (RBE)|ALT7H
1.06 | 2.04 [ 0.82 [ 1.78 | 1.42 | 1.46 |& % )l 5 (0.5m)|RTF7#
2251 1.9910.69 | 1.71 ) 1.66]1.49 5% )l 5 (0.0m|XRSF7H




(3] Xk & No. 2
H26 H27 H28 H29 H30 R1 R2 R3 R4 R5 104 R6 E:
10/30 | 10/27 | 10/25 | 10/25 | 10/23 | 10/23 | 10/27 | 10/26 | 10/25 | 10/24 | Fi AR
21 21.2 #r FlohA
23.0 | 21.2 22.1 2 H|7H*
it BT A A
ey b 1|[7H
B b} 2(ThHA
21.4 | 21,71 22.8 |1 21.0 | 22.7 | 23.5 | 21.7 | 22.0 | 22.4 | 23.7 | 22.3 | 23.5 |k B e P75 4
=z 1|7H A4
= 2|ThA
s ! i) 1|THA
s Fd iy 2|ThA
o g PR A A
B b 1|[7H
=2} b 2|TH A
B b 3|ThA
20.8 1220 21.0| 21.9 | 22.5( 21.9 21.7] 23.2 |E =3 v2=PA
2081 21.9]21.0 21.9 | 22.4| 21.5 21.6 | 23.2 |E I 2|yn/Y
209 21.8 | 20.8 | 22.0| 22.4 | 21.4 21.6 | 23.2 |E =3 3|yo/y
21.7 1 21.0 ] 21.8 | 22.3 | 21.4 21.6 | 23.0 |E I 4|8/
21.5 21.0 |1 21.5 |1 20.8 | 22.6 | 21.9 21.6 ] 23.0 A A=)
21.5 22.2 119.8 | 21.2 | 21.6 | 20.0 21.1] 22.5 | "N 2|yn/Y
21.0 20.8 1 20.0 | 21.5|22.220.9 21.1] 22.8 | A 4187
19 21,0 21.0 | 20.3|22.0|%E & % R BE @|yB/Y
20| &8 1 & E @vRasY
19.5 19.0 | 20.2 | 21.5 20. 1 il 22| B D|7H A
20.2 20.0 | 19.4 | 20.4 20.0 il H 5 @|7H A
20.1 20.0 |1 19.2 | 20.3 19.9 il 22| B Q|7 H A
19.0 | 20.3 | 21.7 20.3 il H 5 @|7H A
=7 Z(ohA
19 20 [ 21.0]17.8 1 20.0 | 21.2 | 18.8( 20.0 | 22.0 | 22.3 | 20.2 | 23.4 |5 # =P
20 21 21.0( 18.0 | 20.0 | 21.2 | 18.8 | 20.2 | 22.1 | 22.0 | 20.4 | 23.4 |& % 2|ym/Y
21.8 (1 21.0| 21.0 ) 18.0| 22.0 | 22.0 | 20.6 | 21.0 | 20.0 20.8 1 19.0 |=# 5 2|yo/Y
& BloAA
2 # 1|THA
12 # 2|THA
22 22 [ 21.0]19.2 | 21.6 | 229|220 20.1]21.1 ) 22.3| 21.4 & #|oosy
18 19 |1 20.0) 13.3 | 18.5]20.7| 16.5| 18.3 | 20.2(19.8| 18.4 | 21.6 |&F & )l 1 (&R B)|RCT7H
21.3 | 16.6 | 18.4 ] 20.2 |1 19.9 | 19.3 | 21.6 |& % 1 1 O.5m[RCTH
21.6 | 18.0 18.3 1 20.2 1 19.9 | 19.6 | 22.2|& % I 1 (.0m[RSFTH
19 19 19.8 1 13.2 1 19.0 [ 21.0 | 16.5 | 17.6 | 20.8 | 19.5 [ 18.5 | 21.9 | H Il 2 (&R B )|RCT7#
21.1 [ 16.7 [ 18.3 | 21.0 ] 19.5119.3 | 22.0|& % 1 2 (0.5mRST7H
21.1 [ 16.9 [ 18.5 | 21.0 1 19.7 1 19.4 222 |5 & I 2 (1.0m[RSTH
19 19 19.5 1 13.0 | 18.5( 20.8 | 16.4 | 17.4 1 20.3 | 19.6 | 18.2 | 21.7 |& % Il 3 (& B )|R>T7A
21.4 | 16.5 [ 18.3 1 20.3 |1 19.6 | 19.1 | 21.7|& % 1 3 0.5m[RCTF#
21.7 | 17.3 [ 18.3120.3 |1 19.7 |1 19.4|21.8|& % I 3 (1.0m[RITFTH
16.2 | 18.1 ] 19.8 [ 19.0 | 18.0 | 21.1 |[& & )l 4 (& B)|RCT7H
16.5 ] 18.2120.2 [ 19.2 [ 18.3 | 21.4|& & Nl 4 0.5m|RTT7H
17.5 1 18.3 1 20.6 | 19.3 ]| 18.8 | 22.0|& % /il 4 @A.0m|RTF7H
151117231197 [19.0 [ 17.4 ]| 213 | % Il 5 (R B)|RASTA
15,5 (17.2 1 19.7 [ 19.0 | 17.5 | 21.4 |& % )l 5 (0.5m|RTF7H
17.7 117,31 19.5 [ 18.7 [ 18.2 | 21.5 |& & Nl 5 (1.Om|RTT7H




(4] & % No. 2

H26 H27 H28 H29 H30 R1 R2 R3 R4 R5 106 R6 3
10/30 | 10/27 | 10/25 | 10/25 | 10/23 | 10/23 | 10/27 | 10/26 | 10/25 | 10/24 | F#g | 10/29 AR
31.1 31.4(29.7|29.8|30.6|31.631.0|31.5]31.1]30.9] 31.8 |s7 F|oh A
31.2 ( 31.4 | 31.4 | 30.2 | 30.0 | 31.1 | 31.6 | 31.2 31.3 | 31.0 | 31.9 |= H[{7H A
31.2 31.6 | 31.3 | 31.4 it a7 h A
=) # 1|7HA
=y b 2(7H A
30.7 [ 31.9 | 31.430.6 | 31.931.3|30.5]|31.6| 320 31.2|31.3]31.9)k ®» m, FIht
= 1|DH A
= 2|T7hHA
32.1 (320 31.2| 31.2 31.5(30.9 ([ 30.6 | 31.5 | 31.4] 31.8|® M #&r 1|DH A
31.8 | 31.9 [ 31.8 | 30.9 31.9 ( 31.8 | 32.1(30.8|31.6]320[& M & 2(7ht
32.0 32.0 # s |2 A
=] b EEE
g2 b 2|THHA
=] b 3[7H A
31.8 (320 31.9 320 30.7 | 32.0| 32.8 31.9 1 30.4 | B A=Pa
31.8 (| 31.9 | 320 31.9 | 30.8 | 31.6 | 31.9 31.71 31.9 |& B 2\vm/Y
31.8(31.9 320 31.9| 31.0| 31.8| 31.3 31.71 32.9 | B A=A
31.6 | 31.5 | 30.9 | 31.6 | 31.5 31.5 ] 31.9 | B 4|lpm/
31.1 29.1 | 31.5]20.9 | 31.5 | 32.3 29.4 1 31.3 [ " A=Pa
31.3 31.9 1 25.2 | 30.5 | 27.7 | 24.1 28.4130.7 pu " 2\vm/Y
31.2 28.3 1 27.1]30.9| 31.6 | 27.9 29.5 1 16.3 [ " 4|lpm/ )
31.2 -0.1 320 (31,5 236|31.1|&E 58 & R E @|ya/Y
11| &8 R E @vRA/Y
29.5 27.8 | 30.8 | 31.6 29.9 oo@\E B O97hA
31.1 27.4 | 31.3 | 31.6 30. 4 moBE B QUaA
31.1 27.6 | 31.1 | 31.5 30.3 oo@\ B QUaA
27.0 | 31.0 | 31.8 29.9 mMoBE B @9UhA
29.8 | 30.8 31.6 | 30.7 5 E|Th A
29.9 [ 31.9 | 31.0(22.2| 29.5| 29.8 | 28.4 | 31.5| 32.3 | 31.5 | 29.8 | 31.9 |5 # A=Pa
31.1 (320 31.1 223 29.6|30.2 | 27.4|31.6|32.2]31.9]29.9]31.9]|% # 2\vm/Y
31.2(32.1(31.0|20.9|30.130.5(27.2|31.8]31.9 29.6 & 5 2|78/
27.5 | 30.7 | 31.3 29.9 | 31.5 [ Bl7H A
31.4 (322 31.9 | 16.1 | 26.8 | 28.4 | 28.3 | 31.8 | 30.7 | 32.0 | 28.9 ] # 1|DHh A
32.0 [ 32.1 [ 31.9 | 23.5(29.7 | 27.0 29.4 | 32.1| 31.0| 31.9 | 30.1 = #t 2(7H
31.6 [ 32.0 | 31.0 | 25.4 | 31.2 | 31.3 | 31.9 | 31.9 | 32.4 | 30.5 | 30.9 & LN A=PA|
21.6 [ 27.6 [ 9.4 | 0.0 25,2 7.6 | 26.8| 28.5 | 28.3 | 19.4 228 |5 HF )l 1 (% B)|ACTH
25.6 | 7.7 | 26.5 | 28.2 | 28.3 | 23.2 | 24.1|& & )l 1 (0.5mRCT7H
277 [ 13.1 [ 26.7 | 28.1 | 28.0 | 24.71 26.5 | & /1 (1.0m|RCTH
24.4 1 28.3119.6 | 0.0 | 13.1 | 24.3| 89 | 26.0 | 31.3 | 27.4 | 19.5 | 25.3 |F H )l 2 (KR B)|RCT7H
25,2 8.6 [ 25.9|31.327.56|227]25.5|& % )l 2 0.5mRSTH
274 9.5 [ 26.0 | 31.3 | 27.7| 23.6]26.5|& % /l 2 (.0mRSTH
23.1(27.6 20.0 0.0 | 11.6 | 21.2| 7.7 | 25.7| 29.5 | 24.2 | 185 | 24.5 |&F & )l 3 (& B)|RCT7A
25,2 80 [ 257 29.4|27.3|221]24.6|= % Jl 3 0.5mRCTH
25.2( 9.9 [ 25.729.2|27.0|225]25.1|& % ) 3 (1.0m[RST7H
9.9 | 2569|283 |27.2 | 214|243 | % Il 4 (& B)RSTH
8.7 | 258|288 |271.3|21.1|247|& % Il 4 0.5mRSFA
11.6 1 25,91 30.2 | 27.4| 226 | 26.7|F % Il 4 (1.OW|RST7H
5,9 | 2651 29.1]29.2 | 20.2|26.7|5 % Il 5 (& B)RSTA
5,3 1 25651 29.3]129.3|20.0|27.5|F % Il 5 0.5m|RSF7H
12251 25,71 29.1 1293|224 |21.2|& % 1 5 (1.OW|RSTA




